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Note : This paper is of seventy (70) marks containing 

three (03) sections A, B, and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Write a note on changing dimensions of economic 

planning in India.   

Hkkjr esa vkfFkZd fu;kstu ds cnyrs vk;keksa ij ,d fVIi.kh 

dhft;sA  

2. Discuss the rationale and significance of national 

mission for sustainable agriculture in India.  

Hkkjr esa iks”k.kh; d`f”k ds jk”Vªh; fe’ku ¼y{;½ ds ewy vk/kkj 

rFkk lkFkZdrk ij ppkZ dhft;sA  

3. Analyse the progress of human resource development 

in India since independence.  

Hkkjr eas Lor=ark izkfIr ds i’pkr~ ekuo lalk/ku fodkl eas 

gqbZ izxfr dk fo’ys”k.k dhft;sA  

4. Write a note on the strategy of monitorable 

development targets initiated by eleventh five year 

plant.   

X;kjgoha iapo”khZ; ;kstuk ls izkjEHk vuqJo.kh; fodkl y{;ksa 

dh j.kuhfr ij ,d foLr`r fVIi.kh dhft;sA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the characteristics of Indian Economy.  

Hkkjrh; vFkZO;oLFkk dh fo’ks”krk,¡ crkb,A  
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2. Write a short note on Parallel Economy.  

lekukUrj vFkZO;oLFkk ij ,d y?kq fVIi.kh fyf[k,A  

3. Describe the importance of agriculture in Indian 

Economy.  

Hkkjrh; vFkZO;oLFkk esa d`f”k ds egRo dh O;k[;k dhft;sA  

4. Write a short note on Public Distribution System.  

lkoZtfud forj.k iz.kkyh ij ,d y?kq fVIi.kh fyf[k,A  

5. What do you understand by Social Sector Industry ?  

lkekftd {ks= m|e ls vki D;k le>rs gSa \ 

6. Describe the features of Indian Monetary System.  

Hkkjrh; ekSfnzd iz.kkyh dh fo’ks”krkvksa dh O;k[;k dhft;sA  

7. Explain the salient features of Indian Foreign Trade 

Policy.  

Hkkjrh; fons’kh O;kikj uhfr dh eq[; fo’ks”krkvksa dh O;k[;k 

dhft,A  

8. What do you understand by Agricultural Labour ?  

d`f”k Je ls vki D;k le>rs gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. National Income ignores :  

(a) Sales of a firm  

(b) Salary of workers  

(c) Exports of services   

(d) Sales of land  

jk”Vªh; vk; eas ‘kkfey ugha gksxk % 

¼v½ ,d QeZ dh fcØh 

¼c½ Jfedksa dk osru 

¼l½ lsok fu;kZr  

¼n½ Hkwfe dh fcØh 

2. According to the Human Development Report, 2015 

India’s ranking was :  

(a) 130 

(b) 135 

(c) 139 

(d) 121 

ekuo fodkl fjiksVZ] 2015 (HDR-2015) ds vuqlkj Hkkjr 

dk mDr lwph esa 
--------------

 Øe gSA 

¼v½ 130 

¼c½ 135 

¼l½ 139 

¼n½ 121 
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3. When the productive capacity of an economic system 

of a state is inadequate to crate sufficient numbers of 

jobs, it is called :  

(a) Disguised unemployment   

(b) Frictional unemployment 

(c) Structural unemployment 

(d) Cyclical unemployment 

tc ,d jkT; dh vkfFkZd O;oLFkk dh mRiknd {kerk i;kZIr 

ek=k eas jkstxkj mRiUu djus eas vlQy gksrh gS bls dgrs 

gSa % 

¼v½ fNih gqbZ csjkstxkjh 

¼c½ ?k”kZ.k’khy csjkstxkjh 

¼l½ lajpukRed csjkstxkjh 

¼n½ pØh; csjkstxkjh 

4. Largest share of national income in India comes from :  

(a) Agriculture sector  

(b) Industrial sector  

(c) Service sector  

(d) Steel industry  

Hkkjr dh jk”Vªh; vk; dk lcls cM+k fgLlk 
---------------

 ls vkrk 

gSA  

¼v½ d`f”k {ks= 

¼c½ m|ksx {ks= 

¼l½ lsok {ks= 

¼n½ bLikr m|ksx 
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5. How many people is India have access to electricity ?  

(a) 22% 

(b) 78.7% 

(c) 100% 

(d) 40% 

Hkkjr eas -------------- O;fDr;ksa ds ikl fo|qr vkiwfrZ miyC/k gSA 

¼v½ 22% 

¼c½ 78.7% 

¼l½ 100% 

¼n½ 40% 

6. MGNREGA is a scheme for :  

(a) Industrial development  

(b) Foreign trade  

(c) Employment generation  

(d) Price stability  

eujsxk (MGNREGA) dk mn~ns’; gS % 

¼v½ vkS|ksfxd fodkl 

¼c½ fons’kh O;kikj 

¼l½ jkstxkj fuekZ.k 

¼n½ dher fLFkjrk  

7. Which of the following is not an example of indirect 

tax ?  

(a) Sales tax  

(b) Excise duty  

(c) Customs duty  

(d) Expenditure duty  
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fuEufyf[kr esa ls dkSu vizR;{k dj dk mnkgj.k ugha gS \ 

¼v½ fcØh dj  

¼c½ mRikn dj  

¼l½ iz’kqYd 

¼n½ O;; dj  

8. The major aim of devaluation is :  

(a) Encourage imports   

(b) Encourage exports  

(c) Discourage exports  

(d) Encourage foreign exchange  

voewY;u dk izeq[k mn~ns’; 
---------------

 djuk gSA 

¼v½ vk;kr izksRlkgu  

¼c½ fu;kZr izksRlkgu  

¼l½ fu;kZr grksRlkgu  

¼n½ fons’kh fofue; izksRlkgu  

9. Present Indian monetary system is based on :  

(a) Gold Reserve System  

(b) Proportional Reserve System  

(c) Convertible Currency System  

(d) Minimum Reserve System  

Hkkjr dh orZeku ekSfnzd iz.kkyh ij vk/kkfjr gS % 

¼v½ Lo.kZ vkj{k.k iz.kkyh 

¼c½ vuqikfrd vkj{k.k iz.kkyh  

¼l½ ifjorZuh; eqnzk iz.kkyh  

¼n½ U;wure vkj{k.k iz.kkyh  
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10. Which of the following is not a clause of World Trade 

Organization  ?  

(a) Most favoured nation clause  

(b) Lowering trade barriers with negotiations   

(c) Providing financial support to member countries  

(d) Discouraging unfair trade practices  

fuEufyf[kr eas ls dkSu&lh fo’o O;kikj laxBu dh ‘krZ ugha 

gS \ 

¼v½ lokZf/kd vuqxzg jk”Vª ‘krZ  

¼c½ le>kSrksa ds }kjk O;kikj ck/kkvksa dks de djuk 

¼l½ lnL; ns’kkas dks foŸkh; lgk;rk miyC/k djkuk  

¼n½ vuqfpr O;kikj vH;klksa dks grksRlfgr djuk  
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